(%) Martec

Expansionstank
Expansion tank

1
e

111111

Sjovattnet passerar varmevaxlaren genom
31 ror vilket ger optimal kylning

Monteringsanvisning
Farskvattenkylning

Installation Manual
Fresh water cooling

No 901-1113
Yanmar 1 GM

Sea water products through the heatexchanger’s

31 tubes giving the optimal cooling effect

Avluftningsslang

Hett farskvatten UT fran termostaten p& motorn
Hot fresh water OUT from engine thermostat

Bleeding hose
Sjovatten UT
= till avgasslang
Sea water OUT

to exhaust pipe

7

T

NN,

I

Sjovatten In frdn motorns sjovattenpump
Sea water IN from the engine sea water pump

Cirkulationspump som "trycker” in farskvatten 1 motorn

/ Cirkulation pump to impel the fresh water around the engine

Avkylt farskvatten In till motor
Cooled fresh water In to the engine

=




D

1. Demontera slangen mellan termostathuset A och avgaskroken.
Remove hose between thermostat housing A and exhaust elbow

2. Demontera termostathuset. Montera en plugg (pos. 33) 1 By-passlang-
en.

Remove thermostat housing. Mount a plug (pos 33) into by-pass hose.

3. Byt ut termostaten (pos. 21) och atermontera termostathuset.
Demontera slangen D mellan sjévattenpumpen och anslutningen in 1
motorn,

Replace thermostat (pos. 21) with new from kit, reinstall thermostat hou-
sing. Remove hose D between sea-waterpump and connection to engine.

4. Demontera temperaturgivaren C och montera den medlevererade
givaren (pos. 15) med adapterstycket (pos. 20) mellan givaren och

motorn. Byt ut ringkabelskon mot flatstiftsanslutning och ansiut pa det
smala stiftet markerat W. G-stiftet gér att ansluta till en temperaturmétare
av VDO:s fabrikat. Anvand tétningsmedel for tatning av gangorna.
Demontera de tva Gvre skruvarna B pa svanghjulsk&pan och den &vre
skruven B pa lyftoglan.

Remove temperature gauge C and mount new gauge (pos. 15) from kit
with an adapter piece (pos. 20) between gauge and engine. Replace the
nng cable clip to a flat connector and connect to the pin marked W. The
G-pin may be connected to a temperature gauge of VDO's make. Use
sealant. Remove the two upper bolts B on flywheel's casing and the upper
bolt of lifting ring.

5. Montera varmevaxlarfastet med M8x35 mm skruvarna och distan-
serna (pos. 34) SB-skruv drages ej helt, d denna anvéndes som jordka-
belféste for cirkulationspumpen. Montera M8x 20 mm skruven pé lyftog-
lan. Montera MS 101 (pos. 31) fastena med M8 x 20 mm skruv, mutter och
fiaderbricka. Lagg varmevéxlarpaketet 1 MS 101 fastena. Oppna slang-
klammorna SMS 56 (pos. 30) och trad dem runt varmevéxlaren och 6pp-
ningen pa MS 101 fastena. Fixera varmevéxlaren 1 sina fasten, lutad ndgot
akter ut sa att backslagets reglagearm gér fri. Atermontera reglageviren.

Montera den formgjutna slangen (pos. 24) mellan varmevaxlarens ovre
yttre 90"-anslutningen och avgaskrokens anslutning (sjévatten ut). Mon-
tera den formgjutna slangen (pos. 23) mellan varmevaxlarens évre inre
90°-anslutning till termostathusets slanganslutning (farskvatten ut). Mon-
tera den formgjutna slangen (pos. 25) fran cirkulationspumpens trycksida
till 1/2" anslutning pa motorns framsida. (Farskvatten in). Anvand stripes
(pos. 19) for att fasta slangen.

Mount heatexchanger bracket with M8 x 35 mm bolt and distances (pos.
34). Do not tighten starboard side’s bolt, as this is later going to be used
for the ground cable for circulation pump. Mount the M8 x 20 mm bolt onto
Iifting ing. Mount the MS 101 (pos. 31) brackets with M8 x 20 mm bolt, nut
and lock washer. Place the heatexchanger unit into the MS 101 brackets.
Open hose clamps SMS 56 (pos. 30) and thread around heatexchanger
and opening on the MS 101 brackets. Fit heatexchanger into brackets, lif-
ting a little afterwards so as to let the reversing gear’s lever operate freely.
Remount the regulating wire.

Mount the pre-formed hose (pos. 24) between heatexchanger’s upper
outer 90'-connection and exhaust elbows connection (sea-water out).
Mount the preformed hose (pos. 23) between heatexchanger’s upper
inner 90°-connection to the thermostat housing's hose connection (fresh-
water out).

Mount the pre-formed hose (pos. 25) from circulation pump's pressure
side to the 1/2” connection on engine’s edge, (freshwater in). Use stripes
(pos. 19) to fasten hose.

6. Montera den formgjutna slangen (pos. 26) mellan varmevaxlarens
undre 90%-anslutning, till sjovattenpumpens trycksida (sjévatten in)
slangen drages under generatorn.

Mount the pre-formed hose (pos. 26) between heatexchanger’s lower 90*-
connection to the sea-waterpump’s pressure side (sea-water in) draw
hose underneath generator.



Farskvattenkylning
till Yanmar 1 GM

Pa aldre motorer rekommenderas en renspolning av kylsystemet fore
montering av farskvattenkylning, enligt foljande:

Stang sjovattenintaget. Lossa sjovattenpumpens sugledning och anslut
en slang (nnerdiameter 5/8" = 16 mm) till vattenledningsnatet eller stoppa
ned en slang 1 en hink med farskvatten och kor motorn ndgra minuter, om
hink anvandes se till att den fylls sa att sjovattenpumpen inte gar torr
Tappa darefter ur allt vatten frdn motorn via tappkranarna pa motor-
blocket och stang darefter tappkranarna.

Pa motorer aldre an 5 &r, bor frostpluggar och avgasimpan demonteras.
Kylkanalerna rensas (mekaniskt, direkt fran varmvattenkran eller om moj-
ligt med hogtrycksspruta) 1 motorblock och avgaslimpa

Justerkapa slangarna sa att de inte ligger 1 bukter eller mot ndgon varm del
pé motorn Det utgdende vattnet fran termostathuset bor silas (speciellt
bensinmotorer) innan det slapps in 1 varmevaxlaren Darefter kors motorn
upp till maximal arbetstemperatur, 1at motorn gé ca 1 imma, demontera
"silen”. Efterfyll systemet. Som extra tillbehor finns ett filter att kopa
OBS! Drag e) at slangklammorna for hart pa de formgjutna slangarna.

Vakuumventil

Vakuumventilen skall behallas vid montering av farskvattenkylning for att
forhindra havertverkan, som kan uppsta, med vattenintrang 1 motorn som
foljd

Farskvattenkylningen forhindrar ej havertverkan da ventilen ar monterad
pa sjovattensidan av systemet.

I monteringsanvisningen anges eventuellt vissa andringar pa nktningen av
slanganslutningen monterad pa avgaskroken. Finns vakuumventil monte-
rad 1 baten skall rnktningen pa avgaskrokens slanganslutning ej andras.
Vakuumventilen kopplas alffid in mellan avgaskrokens slanganslutning
och varmevaxlarens utgaende sjovattenansiutning. Vakuumventilens
montering, se respektive motorfabrikants anvisning.

Elkoppling

Elpumpens bruna kabel (—) med ringkabelsko jordas pa narliggande bult
pa motorn (se till att all eventuell farg tas bort s& det uppstar god kontakt-
yta). Bla kabel ( +) skarvas ihop med rod kabel (pos. 2) anvand skarvhylsa
(pos 3), flatstift ansluts till tandningslaset, se motortillverkarens elschema
for markering Ass tillbehor pa tandningslaset. Den medlevererade sak-
ringen (pos. 15) kopplas in pa lamphgt stalle pa pluskabeln.

Satt pa tandningen och kontrollera att pumpen startar

(Om elmotorn e startar, kontrollera jordkabeln)

Expansionstankens placering

Om motorn ar installerad med kraftig lutning 1 baten ar det nodvandigt att
hoja eventuellt flytta expansionstanken fran varmevaxlaren 1/3-del av
tanken maste alltid vara monterad over hogsta punkten pa termostathu-
sets utlopp. Detta ar ett maste for att luften 1 systemet skall ha en mojlighet
att komma till expansionstanken. | ovanstdende nstallation maste
slangen 1 botten pa expansionstanken och avluftningsslangen till tanken,
bytas ut mot langre slangar.

Eventuellt kan det bl nodvandigt med skottmontering, se da till att elcirku-
lationspumpen inte placeras hogre upp an vid motormontage

Verktyg som behdvs for monteringen
1 st 10mm och 1 st 13 mmringnyckel alternativt hylsnyckel, 1 st skruvmey-
sel, 1 st skiftnyckel, kniv och tatningsmedel

Fresh water cooling
for Yanmar 1 GM

With older type engines, we recommend cleaning of cooling system
before installing a fresh water cooler, as follows

Close sea-water intake. Unfasten sea-water pump’s suction pipe and
connect a hose (inside diameter 5/8” =16 mm) to a water main or bucket
filled with fresh water, start engine and let it run for a few minutes. Note!
When using a bucket, make sure to fill bucket with enough water avoiding
sea-water pump to run dry. Drain water from engine, by opening tapping
cocks on the engine block, close tapping cocks.
With engines older than 5 years, we recommend you to remove frost plugs
and exhaust manifold. Rinse through cooling channels (direct from hot
water tap or if possible with a high pressure hose) on engine block, cylin-
der head and exhaust manifold.
Adjust the hoses so that they are straight and not in contact with any warm
part of the engine. We suggest you filter outlet water from thermostat hou-
sing (mainly petrol engines) before 1t enters heatexchanger. Let engine run
at maximum work temperature, for approx. one hour, remove "filter bag”,
refill system. As an extra accessory there is a filter available.

Don't tighten the hose clamps to much on the pre-formed hoses.

Vacuum valve

Keep vacuum valve when installing a fresh water cooler, so as to avoid a
lever movement, which causes water to infiltrate engine.

The fresh water cooler will not prevent a lever movement as the valve i1s
mounted on sea-water side of the system.

In the nstallation instruction, we mention certain changes in directing
hose connection mounted on exhaust elbow. If there already 1s a vacuum
valve mounted in the boat, you should not change the direction of the
hose connection.

The vacuum valve 1s always connected in between exhaust elbows hose
connection and the heatexchanger's outlet sea-water connection Install
vacuum valve as per engine manufacturer’s instructions.

Electric connection

Ground the el-pump’s brown cable (-) with ringcable clip onto engine’s
closest bolt (make sure all paint is removed to get a clean surface and con-
nection). Joint blue cable (+) to red cable (pos. 2) use joint terminal. Con-
nect red cable ( +) with flat terminal pin onto igniation lock, check engine
manufacturer's electric diagram.

Connect enclosed fuse (pos. 15) to a suitable place of the pius-cable
Turnignition and check that the pump starts.

(If not, check ground cable).

Position of expansion tank

If your engine 1s installed very tilted, i1t is necessary to raise or move the
expansion tank from heatexchanger One third of the tank must always be
mounted above the highest mark of thermostat housing’s out-let, as this
1s the only way to make sure that the air will come to the expansion tank.
For this installation you must replace the hoses in bottom of expansion
tank and the vent hose to tank, to longer hoses.

Bulkhead mounting can be necessary, if so ensure that the electric circu-
lation pump 1s not fitted higher up than when engine mounted

For this installation, following tools are necesarry:
Open endwrenches, size 10 and 13 mm, one screwdriver, a knife and sea-
ling compound

Principskiss ﬁEv vakuumventil

. A Vacuum valve extra
Outline diagram S

1 () Cﬁm

Q=0 —
Avgaslimpa o+ Termostathus Varmevaxlare
Avgaskrok ( Exhaust manifold Thermostat housing Heat exchanger
Exhaust bend O_©Q

a

T stycke Plugg
T-piece Plastic plug

V4

o wm) SjOvatten — Sea water
mmmrwmm ——) Firskvatten — Fresh water

Expansionstank _ |
Expansion tank

Sj6vattenpump
Sea water pump

Ev farskvattenfiiter
Fresh water filter extra

B
Cirkulationspump
Circulation pump




Fyllning av firskvattensystemet

Fyll systemet via expansionstanken med en 50%-ig blandning av glykol
och farskvatten ca 3 Iit.

Satt pa tandningen och 18t pumpen g& ca 5 min. Efterfyll systemet under
tiden och upprepa starten av elpumpen s att all luft gér ut systemet (detta
kan ta ca 5-15 min.) Se till att det kommer vatten ur avluftningsslangen,
(pos. 22) till expansionstanken.

Oppna sjbvattenintaget

Starta motorn och se till att slanganslutningarna ar tata och att slangklam-
morna &r dragna.

Vid kall motor skall expansionstanken vara fylld till 2/3-delar.

Frostrisk och underhall

Vid frostrisk draneras sjovattnet genom att lossa sjévattenpumpens lock
och backslagets avtappningsplugg.

Lossa gaveln alternativt gavlarna pa varmevaxlaren och zinkanoden (pos.
35). Byt zinkanoden i vdrmevaxlaren minst 1 gang om éret.

Extra tillbehér
Plus Filter forhindrar rostflagor fran att tranga in | varmevéxlaren. Best.nr.
950-7637. Storningsskydd till elpumpen best.nr. 950-2325.

Varmvattenberedare Varmluftsvarmare/Defroster

Martecsystemets Overskottsvarme utnyttjas effektivt genom anslutning
av varmvattenberedaren Tropic och varmluftaggregatet Passad. Begar
separat prospekt.

Filling of fresh water system

Fill the fresh water system (via expansion tank) with a 50 per cent mixture
of glycol and fresh water cirka 3,0 lit. Turn igniation and let pump run for
approx. 5 minutes. Refill and vent system. Ensure that water is comming
from the venting hose, (pos. 22) to the expansion tank.

Open sea-water intake

Start engine and check that the hose connections are leakproof, and that
the hose clamps are tightened.

If engine is cold the expansion tank should be filled upto two thirds.

At the risk of frost

Drain sea-water by loosening sea-water pump’s lid and reversing gear’s
drain plug, loosen flange or flanges of heatexchanger and the zink anode.
Change the zinc anode at least once per season.

Extra accessories
Plus Filter, prevents rost from clogging the heatexchanger order no. 950-
7637.

Suppressor to the electric circulation pump order no. 950-2325.

Connection of calorifier tank and

heater-demister

Martec freshwatercooling is prepared for connection of Tropic calorifier
tank and Passad heater-demister.

Ask for separate leaflet.

{‘ I @

Pos. Ant. Det.nr. Benamning Anmarkning
Quant. PartNo Description Remark
1 1 10-35156-1  Cirkulationspump” CO1019mm 12 volt
2 1 950-1021 Kabel 1.5 mm?/Cable’ 45m
3 1 950-1022 Skarvstycke/Connector " 1.5mm?
4 1 950-2200 Trycklock/Pressure cap
5 1 950-2225 Expansionstank !
6 1 950-4004 Slang/Hose" Dia 16 x 50 mm
7 1 950-4236 Slang formgjuten/Hose pre-formed"  Ex tank till V V/
Exp tank to heatex
8 4 950-42.8 Slangklamma/Hose clamp"! SMS 24
2 950-7645 Faste till pump och tank"! AT 23722
Bracket for heat changer™
10 1 950-9022 Skruv/Bolt"! M6 x40 mm
1 1 950-9032 Mutter nylock/Nut Newlock " M6
12 2 950-9042 Skruv/Bolt"’ M8 x20mm
13 2 950-9061 Mutter/Nut" M8
14 2 950-9064 Fjaderbricka/Spring washer " Da M8
15 1 950-1004 Givare/Gauge VDO
16 1 950-1010 Sakringsdosa/Fuse box 8 Amp
17 1 950-1017 Ringkabelsko/Ring cable clip Dia 8mm
18 1 950-1019 Flatstift/Flat connector 6mm
19 1 950-1200 Stripes
20 1 950-1675 Adapter Fortemp givare/
Fortemp gauge
21 1 950-2251 Termostat/Thermostat 75grad
22 1 950-4001 Slang/Hose Dia 8x250 mm
23 1 950-4186 Slang formgjuten/Hose pre-formed Farskvatten ut/
Freshwater out
" =ingér | pump och tanksats/Included i pump kit 2= lev monterat/Included in heatexchanger

24 1 950-4187 Slang formgjuten/ Sjovatten ut/
Hose pre-formed Seawater out

25 1 950-4188 Slang formgjuten/ Farskvatten in/
Hose pre-formed Freshwater in

26 1 950-4189 Slang formgjutem/ Sjovattenin/
Hose pre-formed Seawater In

27 2 950-4275 Slangklamma/Hose clamp SMS 14

28 7 950-4277 Slangklamma/Hose clamp SMS 20

29 1 950-4278 Slangklamma/Hose clamp SMS 24

29 2 950-4284 Slangklamma/Hose clamps SMS 56

31 2 950-6001 Faste till varmevaxlare/ MS 101
Bracket for heatexchanger

32 1 950-6012 Varmevaxiarfaste
Heatexchanger bracket

33 1 950-6089 Plugg/Plug Dia. 12 mm

34 2 950-6231 Distansbricka/Spacer 20x5L=5mm

35 1 950-7300 Zinkanod/Zinc anode? R1/4"

36 1 950-7310 Gavel/End cover? o

37 1 950-7320 Packning/Gasket? 2"

38 1 950-7332 Skruv Varmevaxiare/ M8x13mm
Bolt. heatexchanger?

39 1 950-760% Varmevaxlare/Heatexchanger

40 2 950-9042 Skruv/Bolt M8x20mm

41 2 950-9045 Skruv/Bolt M8x35mm

42 2 950-9061 Mutter/Nut M8

43 2 950-9064 Fjaderbricka/Springwasher Dia. 8mm

Viforbehdller oss ratten till andringar » material och specifikationer utan foregdende meddelande We reserve us the nghts in modifications in material and specifications without prior notice

(0) Martec ...oion

Karlbergs Strand 4, SE-171 62 SOLNA, Sweden
Tel +46-8-587 557 65, Fax +46-8-587 557 64



